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Find the principal value of

 

Answer :  We know that sin : [-1, 1] is given by

sin x = y if and only if x = sin y for −1  and - . Thus,
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Find all values of x such that -6  and cos x = 0 

Answer : cos x = 0
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Find the principal value of tan ( )

Answer : Let tan ( ) = y

Then, tan y =
Thus, y = 

Since 
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Find the value of 
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Find the value of  ​
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Find the value of

Answer : 

Let   and -1 = sin y
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Find the domain of

g(x) = sin x + cos x

Answer : Given g(x) = sin  x + cos x

From the definition of sin x.

 ...(1)

Also from the definition of cos x

   .........(2)

 From (1) & (2),

Domain ofg(x) = [-1, 1] U [-1, 1]

= [-1, 1]

Hence the domain of g(x) is [-1, 1].
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Find the value of 

tan(tan (-0.2021)).

Answer : tan(tan (0.2021))

= -0.2021[  tan (tan x) = x for any real number]
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Find the principal value of 

Answer : We know that sin :  [-1, 1] is given by

sin x = y if and only if x = sin y for −1  and - . Thus,
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Find all the values of x such that

 -3 -3  and sin x = -1

Answer : sin x = -1
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Answer : Let   where 
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Answer : L.H.S = 

=   

Hence proved.
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Prove that 

Answer : LHS = 
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Hence proved
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Find the principal value of 
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Find the principal value of 

Answer : Let   = y, where 
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